


Disp “Cannons”


Disp “D. Merritt”


Disp “One Player-1”


Disp “Two Players-2”


Input Z


If Z=1


Goto 9


Disp “RESET SCORE?


Disp “1-YES”


Disp “2-NO”


Input H


If H(1


Goto 9


0(C


0(D


Lbl 9


Disp “MAX. WIND VELOCITY”


Input Q


Disp “MAX. BUILDING HEIGHT”


Input I


ClrHome


Rand*Q(B


Rand*10(F


If F(5


-B(B


R+1(R


0(H


If (R/2)=Int (R/2)


H+1(H


7.5+B(E


ClrDraw


0(Xmin


22.5(Xmax


0(Ymin


15(Ymax


ClrHome


Rand*I(O


Rand*7+4(P


(P+(Rand*3+2))(Q


Rand*5+11(A


Rand*I(M


Rand*3+2+A(S


Rand*2.4+20(J


Rand*1+0.5(K


and*5+11(J


Rand*1+0.5(K


Rand*1+0.5(F


Lbl 1


Pause


ClrDraw


PT-On(J,K)


PT-On(N,F)


Line (P,0,P,O)


Line(P,O,Q,O)


Line(Q,0,Q,O)


Line(11.25,14,E,14)


Line(A,M,A,0)


Line(A,M,S,M)


Line(S,M,S,0)


Pt-On(E,14.2)


Pt-On(E,13.8)


Pt-On(E+0.2,14)


Pt-On(E-0.2,14)


Pause


0(T


H+1(H


If Z=1


H*2(H


If  (H/2) = Int(H/2)


Pgrm A


If (H/2) (Int(H/2)


Pgrm B


Goto 1














Pgrm A 


Disp “PLAYER 1”


Disp “POWER”


10G(G


Disp G


Input G


Disp “ANGLE”


Disp (


Input (


ClrHome


G/10(G


sin(*G(V


cos(*G(W


Lbl 1


((-9.81T+V)2-V2)/-19.62(Y


Y+F(Y


((BT+W)2-V2)/2B(X


X+N(X


PT-On(X,Y)


0.03+T(T


If X>(J+0.35)


Goto 2


If X<(J-0.35)


Goto 2


If Y>(K+0.35)


Goto 2


If Y<(K-0.35)


Goto 2


Goto 3


Lbl 2


If Y<0


End


If X>P


Goto A


Lbl A


If X<Q


Goto B


Goto 5


Lbl B


If Y<O


End


Lbl 5





If Y>M


Goto 1


If X>S


Goto 1


If X<A


Goto 1


End


Lbl 3


If Z=1


Goto 4


C+1(C


Disp “PLAYER ONE WINS ROUND”


Disp “PLAYER ONE”


Disp C


Disp “PLAYER TWO”


Disp D


Stop





Pgrm B 


Disp “PLAYER 2”


Disp “POWER”


10U(U


Disp U


Input U


Disp “ANGLE”


Disp L


Input L


ClrHome


U/10(U


sinL*U(V


cosL*U(W


Lbl 1


(
